EARAZROREIERT — 2 N—XBISY —F 201959R8H (H) 12M@11A&E2H

m 2m— 28 Yo% 2% ‘ [X1g] ws ‘ [geEmm]  — | % (&) 14000 B
[A&E4£] 1% :360,000 ™ ~ 23#&:108,000  ~ 33#&:36,000H ~ 43#&:22,0008™ . 53&:14,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< — . BRERE :30. -1-1- . — REM (&H)
il zvsouzse o2 ue 1(3_0)6 1-1-1-1 | 40.1 2 (5_299) EEIJWBH 3
IR FLyY BidaTLvi FiE &
NN BEEIFE :32. == . — BEXE (£8)
2lglg|XI>T>TUZR S 1572)0 ees 40 ’ ?f) mHEGE
L:7UF—v B:vHICTH—I NEFRE BB
— ft 2 | R 1:32.1 5-5-5-2 | 40.6 | — 1 443 | MIHEZ (EB)
3 3| TLT1I—=/ 54.0 (7 E) (-p) |BREX
xR AT Bk INES L EEN S
N . HHIEE : 76— — ertnrt (1£8)
4 6| FNA T4 TTRY ad e 54.0 (11'312/5 66 410 > ﬁ?g) () AH
L:Tv TRy b BV Ny R hid  HEER
= a7 4 2 | WO® 1:32.8 8-8-7-7 |40.9| — 4 439 | MEHBEF (1EH)
5 o | TV 54.0 ©) 1) | BARF
L:2bA>7Y4—> B:bhyEO-—HT Tr—3I v FEx4
i A o2 | RERZ 1:32.8 3-3-3-4 |41.6| — 7 413 | H3FRZ (1£8)
6lzl7|F—%v>a 55.0 (7€) (-5 |BREX
L:2=/XLLy b B:LN=U—2 R EB4%
S = i o2 | AR 1:32.9 4-4-4-5 |41.6| — 9 449 | ALAIRRAE (1)
718/ |H¥/#4—07 54.0 (1/2) (o) | AT
R:TF7>TVRZ B:Zo/any EEN S
g B2 | AMALZ 1:33.0 6-6-8-8 | 41.1| — 8 478 | RBTE (1£8)
glsls|ny/EFH 54.0 (7€) (1) | MRS
LNy v =L B by EQA-XF1 b IN=tie]
P 4 2 | mEER 1:33.1 9-9-9-9 |40.3| — 6 473 | EE—K (ER)
EH 4 ELy T RXAA 54.0 (3/4) (+17) AL
RNV TSY BI—T7F T N B%i%
® I—F—@EBIERL
13—7F— 1,9,7,8,3,5,6,2,4
Ao=5"= 1,9,7,8,3,5,6,2,4
T =35r= 1,9,7,8,3,6,2,5,4
41—F— 1,3,9,7,8,6,2,5,4
[ RN
B 1 260M 794K 1-9 190 & 1-8 520 &R 1-3-9 500M4
# B 1 110M =3 180M B E 1-9 460 EE 1-9-3 2,360
9 1609 3-9 330M B H 1-9 810M
3 110/

ABICOVWTRDTEEERROODE. TR LIV,



